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1.

SECTION - A

0 R P

I} General Awareness

Hitler Party which came into power

An 1933 i5 known as

(A) Labour Party

(B) Mazi Party

(C) Ku-Klux-Klan

(D) Democratic Party

Country that was called as land of
Rising Sun

{A) BRussia (B) Japan
(C) KEEEE {D) Holland

Famous sculptures depicting art of love
built some time in 850 AD — 1050 AD
arg

(A} Khajuraho temples

(B) Jama Masiid

(G} Sun tempie

(LX)  Mahabalipuram temples

The river that flow through Delhi
(A) Ganges (B} Indus

(C} Yamuna (D} MNarmada

The world largest desert is
(A} Thar (B) Kalahari

(C) Sahara D) Sonoran

Which soil is suitable for agrculture 7
(A} Rad soll (B) Sand

{C) Black soil (D) Peaty soll

7

10,

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

For seeing objects at the surface of
water fram a submarine under water,
the instrument used is

(&) Kaleldoscope
(B) Pariscope
(C} Spectroscope
(D) Telescope

In which year, terrorists crash two
planes into New York's World Trade
Centre on September 11 in a

sequence of destruction ?
(Al 2000 (B) 20
(G} 2002 (D} 2003

In cricket, the wo sets of wickets are
(A) 18vyards apart
(B) 20 yards apart
(C) 22 yards apart
(D) 24 yards apart

India’s Hrst indigenously buill

supbmaring was

(A} INS Savitri

(B) [INS Shalki
(C) INS Deihi
(D) INS Vibhut
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11.  With which sports is the Jules Rimel 16. Which of the lollowing places is
. famous far Chikankarn work, which is
Trophy associated 7 a traditional art of embroidery 7 ,
| ~ (A) Basketball (B) Football (A) Lucknow
Cl Hock D) Golf (F ryurabad
(C)  Hockey () Go ©) Jaipur
(D) Mysore

12. MNational Defence Academy Iis

situated al 17. The popular TV seral ‘Neem ka Ped’
was written by

(A) Khadakvasls (B) Naw Delni (&) Rahi Masoom Raza
(C} Wellington (D) Dehradun {B) Sharad Joshi
(C) Ashapurna Devi
13, Penicilfe is widely used as {0} Harivansh Roy Bachchan
(A} an antiseplic 18. The programme ‘Gyan Vani is
(B) adisinfectant braadoasted by
(A) Zea TV
(C) anantiblotic @) AR
(D) an insecticide (C) Sony TV
. (D) Doordarshan

14, The famous Dilwara Temples ar
‘ - 18, Which one of the following is a

] situated In Mational Party 7
(&) Bahujan Sama| Party

b (4) Utlar Pradesh
(B) Communist Party
I (B) Rajasthan (C} Nationa! Congress Pary
(G} Maharashtra (D} Al of the above
{0 Madhya Pradesh 20. Which of the following statements
isfara correct about RBI 7
15. The book of Parzsis |5 (A} Itz a Mationalised Bank
(A} Tarah B Bible (B} Itis the Central Bank of India
(C) It was established in 1935
(C) ZendAvesta (D) Gita (D) Al of the above
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i} General Intelligence and Reasoning Ability

21. Embarrassed is to humiliated as
_frightened is fo

(A) terrified

(B) agitated

(C) ecourageous
(D) reckless

22. Here are some words translated from
an artificial language.

mallonpiml means blue light

mallontifl means blueberry
L
arpantifl means raspberry

Which word could mean “lighthouse" 7
(&) tifimallon

(B} pimiarpan

(C} mallonarpan

(D) pimidoken

Directions for Q. No. 23 and 24 : Each
question has an underlined word followed by
four answer choices. You will choose the
word that is a necessary part of the
underlined word

23, gala
(A) celebration (B) luxedo
(C) appeluzer (D) orator
24. monopoly
(&) corrupt (Bl exclusive
(C) rich (D) gigantic

Directions for Q. No. 25 to 27 - Each
problem consists of three statermants. Based
on the firslt two stalements, the third
statement may be true, false or uncertain.

25. During the past year, Josh saw more

movies than Stephen.

Stephen saw fewar movies than
Darren.

Darren saw more movies than Josh.

If the first two statements are true, the
third statement is

(A) true

(B) talse

{C] uncertain

(L) cerain

26. Rowver weighs less than Fidao.
Rowver weighs more than Boomer

Of the three dogs, Boomer waighs the
least.

If the first bwo statements arn trug, the
third statement is

(&) true
(8) false
(&} uncertain

(D cerain
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‘ighthouse' & T RRTada =7 (A) B
(A)  fiflmallon
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27.

29,

All the offices on the 8™ fioor have
wall-to-wall carpeting.

Mo wall-to-wall carpeting is pink.
Naone of the offices on the 8" floor has
pink wall-to-wall carpeting.

if the first two stalements are true, the
third statemant is

(&) Irue

(B) falise

(C) uncertain

(D) cenain

Arrange the following in a meaningful
sequende.

1. Book

2. Pulp
Timber
Jungle
Paper
2.5.1,4,3
3.2,5 1,4
43,251
54,312

th & G

(A)
(B)
()
(D)

Arrange the lollowing in a meaningful
sequence

1. College

2. Child

3. Salary

4. School

5.  Employment
(A) 1.2,4,3,5

B) 2,4,1.53

e 24915
D 53214
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A 0B A

Directlons for Q. No. 30 and 31 ; In each
series, look for the degree and direction of
change between the numbers. In other
words, do the numbers increase of decrease,
and by how much.

30. Look al this series: 14, 28, 20, 40, 32,
84, ... What number should come
next 7
(A) 52
(B) 56
{C) 86
(D) 128

91. Look at this series: 201, 202, 204,
207, ... What number should come

next?

(A) 205
(B) 208
(C) 210
(D). 211

Directions for ©. Mo, 32 10 35 : Look carefully
for the pattern, and then choose which pair

of numbers comas next 7

32. Lookatthisserles: 15, .27, 27,39,
38 ... Whal number should il the

blank ?
(A) 51
(B} @9
(C) 23

(D) 15




27,

28.

24,
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A wret =t vt FfeRi @i aE E
e e d

18 oft wef Rt T E A 2 |

e WiE AT i of w1 et
FHEEAATER |

aft ygel %1 F99 g9 ¢ a1, Te FE 7
(A} &= (B) =3
(C) =ffEm D) Fifem

e =nt axdgel e 5wy, |
1, T

Tl 4

T

HITH

EUE

(A) 2.5.1,4,3

(B) 3,2.5,1.4

(C) 4.3,2 51

(D) 5.4,31,2

moe @ N

Frer &1 aaddf 3w 1 sy |
1. WEiETed

B

ELE

=

EiE

@ M

S

(A) 1,2,4,35
(B) 2.4,1,53
(C) 2,4, 3,1,5
(D} 5,3.2.1.4
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(%, 30 3R 31): weks ymen ¥
aeEmEl & e & aeem i o R 6
Wi v i | weem i, g s o
gt 8, s a ?

I
30. S[EE 14, 28, 20, 40, 32, 64, ... © |
st g R g 7
(A) 52
1B} 56
{C) 96
D) 128

31. @ 201, 202, 204, 207, ... § ST
(A} 205
(B) 208
(c) 210
(o) 211

Faor: (w. 32 % 35): Ued =1 wym B 2han
SV STE HEA A 1S 3 T Hia

32, I@en 18, |, 27, 27, 39, 38, .. ®
Trar T F St we g
(A)

(4} ]

1
(B) 38
{C) 23

D) 15
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33. Lookatthisseries: 72, 76, 73, 77, 74, 37. 20:11:102: 7
ma::? What number should fill the (A) 49
(A) 70 5y
B) 71 © 8
C) 75 (D) 98
(D) 78
38. 42:20::864: 7
34. Lookatthis series: J14, L1686, __, P20, (A} 31
:;ﬁh ? What number should fill the B) 32
(A) 524 | =
B) N1B ) 94
(€ M 39, 121:12:25: 1
(D) T24
A 1
35. Look al this series: 4, 7, 25, 10, __, B) 2
20, 16, 18, ... What numbar should fill C} &
the blank 7
A 13 (D) 7
(B) 15 Direction for @.No. 40 : Choose that set of
(C) 20 numbers from the four altermnative sets, that
(D) 28 is similar to the given set,
36. :.::;crz '.?mn:! does not belong with the 40, (49,25, 9)
8) i (A} (35, 16, 4)
(B) retina B) (36,25,16)
(C) pupll (C) (39,2813
(D) vision (D) (84 27, 8)
As 12
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33, e 72,76,73,77.74, . 75,.. ® a7, 20:11::102:7
fra T ST GEET R T (A) 48
B 7 © &1
(&) 78 (D) 98
(o) 78
98. 42:20:64:7
" "~ ﬁ:
34, SfEEN 14,116, P20, R22, . AT i
AT 1 i deE w1
o t {B) 32
24
0 2 (C) 33
B Nie M
(D) 34
(C)y M8
D) T24 39, 121:12:25:7
- {A) 1
a5, @4, 7, 25,10, _, 20, 16, 19,.
# fa v o e Enft B 2
(A} 183 (C) 86
(B) 15 B} 7
(C) 20 | iy (w3 . 40) ; T3 7w EeE S e
I'D:I 28 E{f.%ﬁvquﬂﬁﬁfiﬂmﬁrﬁ_l e
95. HHT TR AN A MEET 40. {49, 25,89)
(A) EHEHEA (4) (38,16, 4)
(B) Feuee (Bj (38,25, 16)
(o I G (C) (39,28,13)
o) 3= | (D) (84,27, 8)
s 13
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41.

42.

43.

45

A

" uncovered, If the area of the fiald s

O

i} Arithmetical and Numerical Ability

A rectangular field Is to be fencad on
three sides leaving a side of 20 fest

680 sq. feet, how many feet of fencing
will be required ?
() 34
(C) 68

If the average marks of three baichas
of 55, 60 and 45 students respactivaly
i5 50, 55, 60, then the average marks
of all the students is
(A) 5533
(Bl 5468
(C) 55
(D) Neneof these

(B) 40
(D) B8

The differeance between compound
interest and simple Interest on an
amount of Rs. 15,000 for 2 years Is
Rs. 96. What is the rate of interast per
annum 7

(A) &

(B 10

(C) 12

(D) Mone of these

A man Is watching from the top of a
tower a boat speeding away from the
tower. The boat makes an angle of
depression of 45° with the man's eye
when at a distance of 60 metres from
the towaer, After 5 seconds, the angle
of depression becomas 30°. What is
the approximate speed of the boat,
assuming that it is running in still
watar 7

(A} 32 kraph
(C) 38 kraph

(B)
(D)

36 kraph
40 kraph

Which of the following numbers is
divisible by eachone of 3,7, 9and 11 7

(A) B39 (B) 2079
{C} 3791 0y 37911

=14

46.

47.

48,

43

The population of a town increased
from 1,75,000 to 2,62, 500 in a decade.
The average percent increase ol
population per year is
(A} 4.37%

(C}) 6%

B} 5%
(D) B8.75%

In how many different ways can the
letters of the word 'OPTICAL' be
arranged so that the vowels always
come together 7
(A) 120

(C) 4320

(B) 720
(D} 2160

Three taps A, B and C can hill a tlank
in 12, 15 and 20 hours respectively, If
A is open all the time and B and C
are open lor one hour each
alternately, the tank will be full in

{A) & hours

{B) B 2/3 hours

(C) 7 hours

(D} 7 1/2 hours

One card Is drawn at random from a
pack of 52 cards. What is the
probability that the card drawn is 2
face card (Jack, Queen and King
only) 7
(A&} 113
(G) 1/4

(B) 313
(&) avs2

Q} Is as much younger than R as he is
older than T. If the sum of the ages of
R and T is 50 yvears, what is definitely
the ditference between R and O'sage 7

{A) 1 year

(B} 2vyears

(C) 26 years

(DY Data inadequale
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iif) sterTioTe T vE HTeTs g

A1, U AR A B e Bl 8 e
F1 & off v fram o i 20 g R
T e vE & 1 afe 3w g W faee
680 771 |2 &, d1 fer g2 i 2Es

T B 7
(A) 34 (B) 40
(©) 68 D) 88

utg 55, 60 3417 45 Frmdial & d= w6l &
SHHT WIW 37 FHA: 50, 55, 60 §, 7
wedt i & afvmg wm o §

(A} 55.33

(B)y 54.68

(C) 55

(D) =5 & =I5 81

42.

43, 15,000 %. T W g 94 & e gm e
ﬂﬁhmﬁnmmﬂm’mgﬂa
A S e 7

(A} 8

(B) 10

(C) 12

(D) wE B =

T Sia 2iat T | e | g )
74 19 ®I 2EA # | 99 98 A9 At #
B0 el git W BT &, 79 98 =i +
AE Y 45° F WA FTHAREA B | T8
HATAFA S AL F AR 30BN AAR |
4 ST ) 9§ A and) of =9 1w
. A0y 9 A B w7

{A) 32 kraph (B) 36 kraph
(C) 38 kraph (D) 40 kraph

45. P EAEREEE 3, 7, 5 90 11 @t
# fafam 8 7
{A) 839 (B) 2075
(€ 3791 (D) 37811

Ar
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48.

47.

48,

48,

T HTE U o = ST 1, 75,000
H 2,562,500 7% 74l | S 6t ufd

9 31154 Wiaed 9241 2
(A) 4.37% (B) 5%
(C} 6% (D) B.75%

‘OPTICAL" #1=2 % 3w fere T
UFE B HAE F1 " § 9 =mEw 5

YT T
(A) 120 (B) 720
(C} 4320 (D) 2160

A B ¥ ¢ #1999 v ZF H w0
12, 15 s 209 | w8 ofE A
=1 =T 7@ B, B AR ¢ & ) &l
A1l @ 1 =52 % fAu ave vma | 9w o

=A4 w21 H Wi o
(A} 6T (B) &2/392
) 7 (D) 7 1/2 92

ofq 52 i % %% ® v I doiw 5
Fren s 2 @ T wYEa 2 & oaw
e e, T o T A A T

St

gim 7
(Al 113 (B} 313 '
(G 1/4 (D) G/52

Q@ B AIW Y Fa s e, 3 &
mTaIgR I aRAMM THF =
am 50 |IA B, #1 R ¥ Q F I3m w

Eirenie i b B
(A) 1 HT=H (B} 2 HIF
(C) 25 H|TH (D) 90 A2
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at. Thrﬁf‘ 'L:-'mbﬂfﬁ Wr::*ﬁ“ H?T;ﬂ“l’”ma "5; 57. In what ratio must a grocer mix two
each other are su dat the produc atial warth d
of the first two is 551 and that of the g Eﬂ:“ﬁﬂ ot mﬂhi; iﬁ':g i
last two is 1073. The sum of the three 5 :
numbers i& gn;:’;u ;e al Rs. 68.20 a kg he may gain
i Lo ) A) :é'E {B) 3:4
(C) 8s (D) 89 i S '
{C) 3:5 (D} 4.5
52. The sum oftwo numberis 25 and thelr
difference is 13. Find thair product. 58. Two towns are connected by rallway.
(A) 104 B) 114 Gan you find the distance between
(C) 315 (0) 325 them ?
L The speed of the mail train is
53. Atraln overiakes two persons who are
walking In the same direction in which 12 km/hr more than that of an
the traiin is going, at the rate of 2 kmph RApYass train, .
and 4 kmph and passes them i, A mall train takes 40 minutes less
completely in 9 and 10 seconds than an express train to cover the
respactively. The length of the train is distance.
(A} 45m (B 50m (A) | alone sufficient while |l alone not
(U] 54m D) 72m sufficient 1o answer
54. Garticles were boughtat Rs. 5 and sold (B} N &IEII'.IE' sufficiant whike | alone not
5 articles for As, 6. Gain percent is sufficient to answer
(A)  30% (B) 33% (C) Either | ar |l alone sufficient to
{C]‘ 459, {[J:I 445 dnswer o
55, Inabag, there are coinsof 25 p, 10p e Er?;r:u;rand WiRtrAok sufneent to
and5Spintheratioof 1:2: 3. If there .
B o Bl oW maNY BPCONE | 59 s fice antast AB B, ITE 66
(A} 500 B) 100 complete a work in 12 days
© 150 D) 200 independently, the number of days in
{ which A and B can together finish the
S56. A person bomows As. 5,000 for 2 YEars work in
at 4% p.a. simple interest. He (A 4da
: . ¥s {B) &days
immedfately lands it to another person
1 _ (C] Bdays (D) 18days
at B--p.a, for 2 years. Find his gain
- 4 60, A rectangular box is 2 mlong and 3.5 m
in the transaction per year. wide. How many cubic metres of sand
|A} Rs 112,50 are needed fo fill the box Upto a depth
(B} Rs. 125 of12ecm ?
: (C) RAs. 150 (A) 84 (B) 084
| (D} Rs 16750 Gl B.4 (B) 0D.084
Ae
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51.

a2,

53.

54.

a&.

aaG.

STTH H AR - SN arel) 17 g
g, fomn weel ) Henedl 1 e
551%3ﬂra¢1ﬁaﬂm$1§um1m3
# | i w5 e g
(A) 75
(C) 85

A1 W w1 = 25 § o 39 e
£ 13 | ST VRS T S,
(A} 104 (B) 114
(C) 315 (D) 328

2 & =, o g1 3in 4 o o). vl vz
Tfd & == T8 51 =afengl =t 3611 2 o
A ATEl $ A @ W10 HFE

T8 © T L AT 8 | 3 oA o #

(&) 45T, (B) 504,
(C) S41, (D) 72,

@ =14 5 5. H @d s N I 5 =t
| 9% FIF1 5 I H A= | TAF F
PIGEInE

(&) 30%
{E:l 45%
v At B 25 %, 10 3 s 5061
ﬁarﬁn;z:s%#‘ ﬁiugag:;n?ﬁﬁf‘l
H 0% 8, 9 5 T4 & T
Rawbr

(A) 500 (B) 100
(Cy 180 (D) 200

v sufa 5,000 %. %1 70 2 =24 o foiu
4% 99 S = o 9 T 390 E

al.

81
89

(B)
)

58,

(B) 33%
(D) 44%

5 P
B | &% 0= 39 H ) EI'H'IHI?T?HI:-'I

2 =1 % foru ot s =@ it e B
g =er 4 39 T T 61 AT E
(A) 112.507%. (B) 125%.

(C) 150 3. (D) 16750%,

A7=-
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60 %. Wi el areft = ¥t a5 %, ufd
Forett aret = =1 =0 s # fem
i fores 68.20%. wft fred! S
10% 1 JATH & 7
(A) 3:2
(€} 3:5

B 3:4
(D) 4:5

&7t 4 8 Fq2 | 39 I = AT
T T FLEFA B T

| AEE TR A A E g

12 fr ot jam afusl

Il =0T [ O 06 & i U
&4 % wraet 40 TaE R |
I o Tern et |l @ ol e
| =Tkt T B
I % FoTU e || =R R e e
EaiaEdiE:
T = fom o= | | =rht R

TA & Tom | o 1) 2 ekl AE 2

A, B E FH I B i e 2 | 9
1A Ui i 0 e B 12 B Em 2, \

{A)

(B}

(C)
(D)

Al A 21 B =E e e #m e \
s 1 g

(A) 4Fm (B) 68 l
(c) afes (D) 18fE=

U ATHAERR HeE i g 2 ot #
st =tz a5 9. %) 39 HgF A
12/ Y. 7RI T 1 WA & e el
T Wit T o TRl 2l 7

(Al 84 {B) 084
(C) 8.4 D) 0.084
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iv) Tesl of Language : Hind|
AT e - B
Frefeafis vt & T g Tk | 68. fam + e Srafi i
] (A} Frawm B TFem
B1. %0 & freehl a1 & 8 1 (c) P (D) T
(A) =i (8) = e o * -
: 91 69-70 : TiY = UEH = B W
(C) Rl (D) wafaE |
- 69. wal + 30 = wefl
g2. ‘w1 rmEr @ () ey B) awwEfa
(A) g B) H (C) Tty (D) =y
{C) i (D) == )
T i T 70, T+ HTHT = TEymm
63. “wifim’ 1 i I B (&) #d wfy (B) =M
(A) (B) #= (C) TrEm (D) =
c} w D -
bt (0, =gt 71, Feferlion @ R -m e aem adT 2 7
64, o &t i fir e, 7w 3 (A) W@ (B) =
(A) ST (B) famzsft (C) == (D) &
(C) TagA () feh r2. T wam 9 & forg 3w s
B5, 1 %W Are M P8 1 S | .
" Telieh U5 R EHTEA I
(A) TH=E (B) it G E |
(C) e (D) =gFam) (A) Ffem |\ #
66. Y[E 9 19U | (C) = (0) &
(A) = e wr A & e 73, ‘yE-Tm s i Ea-mraEE R 7
B) FEFnE FEdHE (&) FuTY B =
(C) & s = For 9 S ol o (b (B) Tl
(D) TeFaE FE = AR 74, ‘g’ 1 AR
B7, I e mwEr (A) rm (B) T
(A) T o AT T W A (C) = (D) TEm
| (8) TWI_{?"“:" ha 75. ‘#edl sTamm ey d
| (C) e FafEm =1 5@ ' (A) B (B) ®=
(D) wiarEl & 79 WrE TE | C) o)

A» 18-

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




o m

76-80 : 37yl e

FrafefE s & e g8 o 390
waifir we o Te fam v g - Fereret 6 1 et
ferepe =1 95 =

sfewn st 1 dse vy £ i i 8 T i
71 FiE 3094 A6 g | 5 uwn § fE e
St fgmm == 3 o i 3 sfdm e Feen
ﬁﬂﬁ?mﬁmﬁmﬁnmﬁﬁﬁ#ﬂa‘r
afifel fer % e § S 3v T e T
a1 | maal s 3 % fow e w5l
et oft Stera il B an ot | itfeE 3 s
i wifaaaft %91 3 2w =1 anfeos gaw & do
41 | 78 3Rt i 30 wEyERm EE A | s
a0 | S 7 w1 U = sl 8, 09
RO e A Rl i 1 e
wrrt =, ot o wre e o o arafea
F AN | 30 30T T U THA 59 off a7
W1 WA = Teerd 1 WA | sl g e

76. ¥R s o waifus avga o 2
(A} mErmET AT =
(B) A F feHeF el
(C) ¥l 37 e =
(D) TEmr i wEE

18-

f8.

8,

80
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Fiferaat e wgr it 3 gty w=
ED

(A) SHTOET HaE A i HTE g
(B) Tewn = ferg afm

(C) ITHEEM HEEA =eH & fon wa
(D) AN | Zaeke ot o Hia &

AT & T 9T e s 6 S B
(a) it T % o

(B) il sufar = fom

(C) wftmmEfEE & fom

(D) WWA &Y 29 & o

i 2 w9 2

(A) WE 3 T w)
(B) T
(C) =

(D) & &

"

Ferreeer anrfer srwane = 2 -
(A) TS = %
(B) FEe o fan
(€ e T = o

(D) wifFemet gaE = fom
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v} Test of Language : English
YT TtETT @ St
Change the Passive : She spoke 1o Directions for Q. No. 86 and 87 : Complate
the official on duty. the statement.
A} The official on duty was spoken 1o
(Al by her o W = 86. Ewventhoughitis very large house, ...
on duty. It for children
(C) She was spoken to by the official {B) there is hardly any space available
on duty. for childran
(D) She was the official 1o be spoken (C}) there Iz no dearth of space for
to on duty, children
0} the servanis take a long time 1o
Select the pair which has the same ) ni:an "w N 9

82

relationship

FILTER : WATER
(A) curail : activity
(B8) “Expunga : book
(C) edit: text

g7

It was an extremely pleasant surprise
for the hutment-dweller when the
Govemnment officials told him that ...

{A) he had fo vacate hutment which he

had been unauthorisedly
(D) censor : play occupying
Directions for Q. No. 83 and 84 : Choose (8) henadbean gifted with a furnished
the word which Is the exact OPPOSITE of apartment in a muiti-storeyed
the given words, building
{C) he would be arrested for wrongfully
83. NADIR ancroaching on the pavement
(A)  Modermity (B) Zenith oufsida his dweliing
(C) Liberty (D) Progress (D) they would not accede 1o his
request
84. OBSCURE
(A)  Implicit 88, Find the comectly spelt words
(B) Obnoxious (&) Friming {B) Bumning
(C) Explicit (C) Running (D) Fryng
(D) Peadantic
g9, Find the correctly spelt words
him, “"Why don't you go today 7" o nase
(&) She asked him why he did not go (e} Dammeg 19), Harnsy
that lﬂ&'_l.:'- g0. A man of straw
(B) She said to him why he don't go (A} A man of no substance
that day. iz
(C) She asked him not to go that day, igj i HEE:;I;I‘J:'DEEFEDH
(D) She asked him why he dig not go 1) T e
today. (DY An unreasonable person
A= =20
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Directions for Q. No. 91 and 92 : One Word
Substitution

a1.

82,

93

That which cannot be read

{A) Negligible
(B} lllegible
(C) Ineligible

(D) Incorgible

Iin a state of tension or anxiety or
suspense

(&) Off balance

(B8] Depressed

(C) Diffused

(0} Ontenterhooks

Order the words © In the darkness

P . thelong. namrow beard

Q: was cldfarly visible with

R: thetall stooping figure of the doctor
5: and the aguiline nose

The proper sequence should be
(A} ROQPS (B) PSQR
(C) RSQP (D) QPRS

Directions for Q. No. 94 and 95 ; Idenlily the

Emor.

o4

A

Solva as per the direction given
above

(&)  In spite of several reminders,
{B) he did not so far send

{C) any reply to me, lettars

{D) Mo ermor

Solve as per \he direction given

above,

(A) As much as | admire him for his
slerling qualities

(BY | cannot excuse him for

(C) being untair to his friends.

(DY Mo error

Latest Sarkari Jobs, Govt Exam Results
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Directions for Q. No. 96 and 97 : In the
following the question choose the word
which best expresses the meaning of the
glven waord.

96.

87,

100

IRONIC

(A) Inflexibla

{B) Bitter

(C} Good-natured

(D) Disguisadly sarcastic

TIMID

(A) Fast

(B) Slow
(C) Medium
(B) Shy

She a brief appearance at
the end of party.

{A) puton

{B) putin

{C)  putacross

(D) putup

Life is to death as pleasure isto
(A} poverty

(B) suffering
{C) anguish
(D) pain

The machine is difficult to build _
easy to mamntain

(&) but
(B} and
{C] for
Dy i

[ = -
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SECTION-B

0 0 O 0l

Post Specific Subject-Related Questions

101: Theword ‘texties’ comes from a Latin

word textile which means
(A) Weave
(B) Textile
(C) Fabric
(D) Neone

102. Fabrics with low density
(A) [gave less waight
(B) Have less cover
(C) Bettarhand

(D) Resiliancy

103. Flax and cotton do not show pileing

because of

(A) Static which is nil
(B) Hydrophilic fiber
(C) Short length fiber
(D) None of the above

104.  Artificlal silk is

(A) Polyester

{B) Rayon
{C) Acrylic
(D) Acetate

A

Latest Sarkari Jobs, Govt Exam Results,
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105, TPl iz aterm used in relation to

106,

107.

108,

(A)
(B)
(C)
(D}

Staple fibres are short fibres, the

Yam
Fabrics
Knita

Weaves

length ranges from

(A)
\B)
(C)
D)

1
— —10 ems
2
1=20cms
1-30cms

1 —40cms

SPI stands for

(Al
(B)
(C)
(D)

The factors affecting fashion includes

(A)
(B
1<)

(D)

Seam Per Inch
Selvedge Per inch
Stitches Per Inch

Mone

Inflation and Recession
Population
Income

All the above
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101,

102,

103.

104

A

L i
urez w s Rreg e aw

"SRR U8 e wlieA 1T SRe e
% 317 @ e e 2

(A} =

(B) =T (Zewerse)

(C) =@

(D) oI5 AHt

mmmﬁ"?{ﬁqfﬁm
(A) WM %0 2 2
(B) 7= e B
(C) P AR
(D) == Ea

Wl | whed) N Fam w = T
(A) e I Emar g

(B) T9TEn S BAT 2

(C) 3% 191 ] creans = wieft 2

(D) Fuft &1 74

(A) AT
(B) @M
(C) Ulhiers

(D) wEE

105.

106.

107

108.

JDD-26/PGT-HOMSC/ X-14

a9 31 (TP ) o v g9 e
I Bl B

(A) Ha
(C) =

(B) =2
(D) HEe
B T T 4 i B, e o) s
Bt 2

(A) 21 - 10 . #t.

(B) 1-2p H. 1,

(C) 1-30 & .

(D) 1-40d. 9,

TH 51 3% (SPI ) F Haea

(4] Hmwzy

(B) HIeTEE W

(C) T==m W im

(D) =g A

Foar = wrf S A e s
(&) ETESiTT 30 e

(B) FEE

() =

(D) Faad
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113. Earlier than this, textiles was being

109, ____ Is the wadge shapa in
looked after by

any pattern that points and ends

A i
towards the fuliest part. (A} Ministry of Commerce

(B} Ministry of Finance

' (A) Dart
(B) Pocket (€) Homa Ministry .
(C}) Seams (D) None
(@) ke 114. The office of the Development
110. is the line along which Commissioner for Handicraft is

the reverse of a collar turns back. located at

(A) Etiamht line (&) Caloutta
(B} Curved line (B) Madras
(C} Half circle (C} Mumbai
(O} Roll line (D} Mew Delhi

111 Class 200 series includes all 115. The ariental word ‘Carbasina’ in

stitches. Sanskrit means
(A) Machine (&) Linan
- (B} Hand (B) Hemp
(C) Basic (C) Karpasa
l (D) Decorative (D)  None
I 112. The term silhougtie is 116. The trade name of 'Acetate’ is
(A} Stitching out (A} Tafeta
(B) Stitching In (B} Crogandy
(G} Outershape of any garment (G} Hoisery
{0} Innershape of any gammen! D Viscose

Ax
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T RO

109, TP T & TR H 18 )
et # qui W o 3 il o 2 s
T BT E |
(A} TH
(B) ==
(C) ®RA
(D) iz

110. 4% T L ® s e |
et 1 Ferel, Ui, qEm R |
(A) Tt T
(B) ﬁﬁﬁT‘
(C) wrEr=Ew
(D) T

11, 200 ot saen o o LT
e § |
(A) it
(B) ¥
(C) Ha
(D) FamEd

112, 9198 &HE 98 78 1 oo £
(a)  aTelt Rend
(B) i
(C) T oft srs = ame s
(D) s ot 92 =7 i s
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114,

116

JDD-26/PGT-HOMSC / X-14

T YET H9El S sEiE A
(A) FTivr wEeT

(B) FmuEEE

(C) 8 HHEE

(D) =gl

ekaldey famme e 1wy Tel
e 2

(A) e

(B) wEm

(C) T2

(0) =% Rl

Tl TeR RTEIG  H U e

(A) WBIETE

(B)

(©) T 5

(D) =t

“witez =i g 3
(A} 7%
(B) oiE

{C) FEEE

(D) TEEEFE
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117. Infancy yams there is combination of 121.  One microgram of retinal is equivalent

(A) Counts to________ micrograms of carotens.
(B) Colours (A) 4 (B) B

- (C) Materials (C) 8 D) 3.8
(D) Al 122, Conjunctival Xerosis means

of conjunctiva.
(A} Hardness
(B) Blindness

(C) Sofiness
(A) Yarn number (D} Dryness

118. How much yarn is required for
weaving a particular length of fabric

is tarmed as

(B "f".im waight
123. Faillure of growth, irritability skin

o TR changes and hair changes are the

(D) Yam length symptoma of
- (A} Marasmus
119, Sulphur dyes are basically used for
(B) Kwashiorkor
(C) PEM deficiency

(D) Fluorosis

(A) Stone and acid wash
(B) Air oxidation
(C) Silk

124. 1 Chapati of 20 gms is equivalent to
(D) Maone of thase

__rmcewhichyields  enemy
120. Fabricis first treated with dye and then and _____ protein.
ireated with mordant (A) ! cup, 70 K. cals, 2 gms
2 r

{A] Chrome

’
B) - cup, 70K cals, 3gms
(B) Metachroms =] 4 up 3 g

(C) AMerchrome (C) 1cup, 100K, cals, 4 gms

3
(D) Scouring (D) ?cu:}.ﬁﬂﬂ.cals.zgms
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117, St el g wieem dhan 2 121, % urwnm Heaa g
(A) HTEvE FTRTSH TIITH 12 o =77 8
B {A) 4 (B) 6
©) awh C) 8 (D) 3.B '
(D) it 122, eAadiac] olIaE 1 HAeE & FeaadiE
&l
118. 1R Fifean o = wae 991 % fom (A) FERM
H Taa= T ST B, 39 4 e 8 7 (B) =
(A) T AR (C) el
(B) HWN WH \D) e
(C) am Frawe 123, gfa#1 s, Faesfems = v
(D) 0T e ST =T H UG 4% 5 5 e §
119, HeHL U1 &1 Hetd: 399 36 % f&u 0. i .
S (B) =afEmrREn
(C) PEM &T=H]
(A) =214 3 anfie 9m D) s
(B) 974 AT
©) T 124 ‘Eﬂumﬁ;qimi':rm"r am_;
T _ HEWEE A 000 Kcals® -
i LRl i omufmsmasm e,
120, U 9 T H gEYe Ba § a9 e 1
O g S el s
(A) S e (B) %3-:':. 70, 3
(B) HIHMW
- (C) 159,100, 4
(D) T SR ETE S (D) Elem. 50, 2
Ar 27
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125.

126.

127

128.

Pulses lacks _but are richin

{A) Lysine, valine

(B) Lysine, tryptophan

{C) Tryptophan, valine

(D) Tryptophan, lysine

PFA means

(A) Purified Fatty Acids

(B) Pravention of Food Adulteration
LY

{C) Pravention of Fortifiad Adulterants

(D) Pure Fatty Acids

The area of earth where life exisis 15

called
(&) Atmosphere
(B) Biosphere

{C) Lithosphere

(O) MNone

Ten grams of wodized salt provides
pgof lodine.

(A 80

(B} 100

i) 120

(O) 150
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129,

130.

131

13:

| U0 0O N 0

acls as a precursor of

niacin.
(A) Lysine
(B)
(C)
(D}

Histidine
Tryptophan

Valine

Find odd one.
(A) NPU

(B)
(C)
(D)

Bv
Douglas bag
NPH

Onions make us ery when shedding.

It s because

(A) Sulphur compounds

(B) Acted upon by enzymes
(C) Produce volatile sulphur
(D) Al of them

Egg has all the nutrients for body:
growth EXCEPT

(A) Calcium

(B} Miacin
(G} Vit.—C
(D) Vi.—E




125, EEd iamaka_ ®d | 120,

wrETH BATE |

(A} mEfEE, Sf

(B) T, e
oy Frgnga, Jfem

(D) Traerd, R

126. diuwu (PFA) 17494 &
(A) wgfreTsE BT ATTOEH
(B) Tadvm 7% Fe Hgm2ivH
©) fder 3w wieTee sfeezren
(D) g e STEEy

127, GEt R b el s g 8, 36 w0 ©
{A) SREvEH
(B) =ilE~TEA
(C) TE-TUEs

(D) FEAH

{28, 10UW FAERGHEAEE__ ug
S ARG S

(A) 80

B) 100

(C) 120

(B 150
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132,
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Rl SEE e S |
(a) =mEREE

(B) T

(Cc) R

(D) aARH

Tomm =61 gEanfg

(A} NPU

(B) BV

(C) EEmET

D} NPR

QTS A S B0 56 S0 1T SR
(A) BeE At

(B) UmEH O

(Cy arasitel HE & Ira H

(D) BiH

w2 0 R TEw % ow ad
qfeen & e 56

(A) R

(B) A

(c) faam= -c

oy EEfma-E



“

133. Clinching is 137.

134.

135.

138.

A

(A)

(B)
()
(D)

Phrynoderma {Toad Skin) is caused

by
(A)
(B)
{C)
(D)

Genetic code is carried in

mada up of protein.

(A)
(B)
()
(®)

Breast feeding is nol given when

(A)
(B}
(C)
D)

JDD-26/PGT-HOMSC / X-14

Intentional escape of air from loose
lid

Seality of cans

Adding syrup or brine to a can

Mone

quiancy of essential fatty acids
Deficiency of Vitamin A
Deficiency of Iron

Deficiency of Amino acid

DNA
RNA
Both (A) and (8)

Mane

Mother suffers from chronic iliness
Infant is weak
Mothar acouires aculs infection

All the above

Latest Sarkari Jobs, Govt Exam Results,
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138.

138,

140,

In case of nausea., vomiling,
gas-formation, diarrhoea glve

{A) Liguid diet

(B) Full fluid diat

(C) Softdiet

(D) Clear liquid diet

Glucose is added in the ORS for
{A) Absorption ot sodium

{B) Source of energy

(C) Taste

(0} MNone

Oral fluids does not include
{(A) Whey water

(B) Barley watar

(C) Frull punch

(D) Al the above

Crisp food is given by 5™ or 8™ month
to the Infant

(&) Diet supplement

{B) Teething

{C] Weaning

D) None
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133, e (FRrra) 2 137.

134

133

136.

(A) SR e T | w1 ] e
(B) fest i qems

(C) wei-aie] @t =t f2=e 1§ fiemn
(D) =I5

T 138,
HIEATSHT (Y o) TTHE R

(A)  STEYEE SHH S A
(B) TaerirmA =7 ammE
(C) FIE AT

(D) ol s e

R AviEsa e
BRI BT |

(A DNA

(B) RNA

(C) A3l B

(D) =i

140,
T T8 B S S Ea

(A)  ETET T AT T
(B) T FmEnd
(C) WA =] J1E wEwmm

(D) FHTHEW
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141,

142,

143

144.

A, protein present in the blood cells
(A) Rhfactor
(B) pH factor
(C) Aafacior

(D) MNone

Organ that separates the mothers
blood stream from embryo

(A} Placenla

(B) Uterus

{C) Eh.rum

(D) Umbilical cord

is a process by which

minaeraizs and other substances are
added to the carlilage and make bone
harder.

(A} Classification
(B) Assimilation

{G)
(0} Chromatin

Ossification

is a test whare high

frequency sound waves are beamed

at the utarus.
(A)
(B)
{C)
(D)

Feloscopy
Ultra sound
% ray

Eliza tast
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148,

147,

148.

“Child development is a field of study
devoted to the understanding of all
facts of human growth and
deveiopment”. is a dafinition given by
(A) Berk

(B) Harries

{C) Hurlock

(D) Papivea and Olds

"Vemix Caseosa’
(A) Covers entire body of foelus 10
protect against jerks

(B)
(C)

()

An agent which causes damage
Prevents skin frorm chapping

It s & period of foelus

Primary socialization takes place in
(A)
(B8)
()
(D)

Infangy

Childhood
Adolescence

All of the above slages

Man's special mental abiiities can be
distinguished at the age of

(A) 5

B 7

(C) M

0y 15
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144

R

Ta] TR ST B
(A) Rh=ZH

(B) pH ==

(C} Aa=ZH

(L) 0

o1 o T ST TS R S A e
FnEa e

(A} wE

(B) TR

(C) sy

(D) -

_ HEmrgar i sl
wEd W F (o Fuies § i s
2t zed] =) e 9 e |

(A) i

(B) R

(C) sifetram

(D} =fif

it ® @ 3= e
o1 e v watera o faod ot e § |
(&) ThErERIT

(B) ezl gTHE
S
(D) feran yiam
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149, The cause of phobia could be 153. According to Jean Piaget the

(A) Social
(B) Emaotional
(C) Classical conditional

cognitive development has following
stage
(A} Sensorimotor period stage

(B) Functional stage

(D) None
{C) Postoperational stage
150. A child with leaming disabilities is (D) Al the above
likety to have difficulties with
(A) Maths 154. Psycho-analystic theory was
(B} Reading proposed by
(€) wlllegible hand wrifing (A) Marry Alnsworks
(D) English (B) Piaget
(C) Bowiby
151. A process of change which
% y i (D) Freud
redatively independent ol experiences
(A} Learning 155. is the time when sexual
(B} Maturity maturity is reached
(C) Growth (A} Adolescent
| (D) Developmeant (B) Puberly

{C] Phallic stage

152. is a process by which
{D) None of the above

the newbaorn child iz moulded into

culture and hence becomes an 156. Cephalocaudal principle tells the

acceptable person in that society. development from
(A]  Interaction (A} Inner layer
(8] Maturity (B) Outer layer
| (G) Socialization (C]  Innerto outer
| Dy Development (D) Topiobottom

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click




S R

149, W4 T FH B T 8
(A) HIRTTEE
(B) wTarE SEA
(cy el fef
(D) =0 w

150, T3 i wmndar 99 9 S T0E
fera o afampd s = wsmee arfis

B

() i
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(A)  hipm
(B) uEmEE

-

(C) g
(D) =g

152 __ 77 v ufea 2 e
ST A o w1 2 W § e

= g7 8 i e Em g
(A) =T T

153.

154.

155.

1566.
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157. The sense of taste is very weak al 161, values are those that
birth stand alone and are important and
(A) True desirable simply for thair own sake.
(B) False (&) Instrumental value
(C) Absurd (B) Instrinsic value

(D) Not related (C) External value

158 __is the third part of (D) None of thesa
perscnality development.
A Id 162. "A value is always imporiant to the
(B) Ego person who holds it". Who said this 7
(G) SuperEgo (&) Ciyde Kluck Hohim
(D) Trust (B} Plaget
(C) Freud

159, Problems may stem for a child with

learning disability because of his (D) Gross and Crandall

inability to 163. are difficult to measure.
{A) Organise time (&) Values
(B) Prioritise activities
(B) Goals
({C] Grasp verbal and non verbal
(C) Standards
concepls
(O} Al of thess

(DY Communicate effectively

160. Some behavioural abnormalities that 184. Palice protection, roads and temples

seem 1o indicate problem children are eic are examples of
i (A} Steafing (A} Temporal resourcaes
(B} Lving (B) Mational resources
[T} Annoying (S} Community resources
(D} Running (D) World society resources

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




157.

158.

158.

=7 % Hae 9 % HEY A wEEn
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(B) e
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(A) M
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(C) THIEH
(D) TewEm
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AW & TV S WA 1 BEAT 8
TR = ST
Prioritise Tiirfatat
Tifiger aite srfias =t w5 aaem

THTE T H=H

[A)
(B)
{C)
(D)
e TR SFHIATL & AT AT
fi sngfm e, T8 d

(a) =
(B}
(C)

{3
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165. Pick the odd one among the

characteristics of resources.
(A) Useful

(B) Accessible

(C) Unlimited

(DY Inter- changeable

166. The acMvities which pile up on each

other at packed periods are called
(A) Work curves

(B) Peak loads

(C) Timea load

(D) None of these

167, Due to lack of sufficient O, the person

experiences ___latigue.

{A} Physiological fatigue
(B) Psychological fatigue

(C) Boredom fahigue

(D) Frustration fatigue
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168.

168,

170.

AL LT

Three classes of change was
proposed by

(A) Mundell

(B) Gross

() Crandall

(D) Gross and Crandall

consists of 2 senes

of decision making process of using
family resources to achleve family
goals.

(A) Home managemenl

(B} Business management

{C) Resource management

(D} WMone of the above

____ I=the process ol selecting
one course of action from a number
of possible alternatives to solve the
problem.

(&) Crux

(B) Decision making

(C) Feadform and system

(D) MNone of these
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(A) HEe

(8) =g

(C) FaEw

(D) utH # FAEe

_ ¥ ot e
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#1 oh uler S are 1w B
(A) e WA
(B) =5EHRE T
(C) HIE
(D) T | FE A
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#1ET B e
(4)
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171. A step to step description of flow of | 454 Tha imponant difference between a
movements in the task to avoid ‘Home' and a ‘House' is
unnecessary motion (A} Physical
| (A) Operation chart (B) Environmental
{B) Pathway char (C) Emotional
(C) Processchart (D) Terminology
(D) Chrono cycle chart
X 175. ks one of the sources
172. Home management is a process of of valus.
using what you have to (A} Man
(A} Getwhat you wanl (B) Woman
(B) Getevarything (C] Language
r {C) Getsomething (0 Culture
(D} MNone of the above
178, .1 the family is not only the best
173, “Getting resuits through people” is the conveyoral values, but is ihe producer of
description of values,.." — who stated this 7
(A} Training (&) Nickell and Darsey
(B) Controlling (B) Grossand Crandall
(G} Managamenl {C) Mundell
(0D} None (D) Leonard Mayo
A ~40-
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177. Playing helps to attain good health, | 181- Aprons Bibs and Curtain made of

plastic instead of cotton help in
It is an exampie for

reduction of

(A} Intrinsic value (A) Time
1al value

(B) Instrumen (B) Energy
C) Both
IC) (C) Money
{0} None

(B) None

178. Steps in controlling include
182. Castiron conducts heat

(A) Slowly

{A) Incentive
(B} Checking

{C) AT:Ijuslmen: (B) Bad conductor

(D) All (G) Surfily and evenly
(D] None
178. Human resourcas at our disposal

include 183. ‘Teflon Coat’ the terrm means 1o us
(A} Skills (A) Trade name

{B) Knowledge (B} Silicon finish

(C} Energy (C}) Reasonable price

;
| (B) - Metanehsmn (O} Savestime and energy

180. ‘“Work is the consclous seeking of the ;
184. Iron can be prevented from forming

simplest, easiesl and quickest
. ) - rust by
method of doing work”. This definition

(A} A small coat of grease applied on

is by

(A) Nickell and Dorsey e simasa.stign

(B} Gross and Crandal (B) Frequent washing

(C) Lilian Gilbreth (C)  Wiping it clean

(D} Gilbrath (D) Notusing it on heat
A+ 4
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185 Forms are Cﬂ':lS-E."}' related with 189. "A Text Book of Household Ara” is

written by
A Lircies (A) Stella Soundararaj
(B) Square (B) Rutt
(C) Rectangie (C) Friedman
(D) Lines (D} Pramila Mehra

1B6. A progression of sizes Is another | 4o 4 combination of vertical or horizontal

technique to achieve rhythm. It is and diagonal lines produce
called _ foms.
(A) @alanc:e (A) Circle
(B) Emphasis (B) Triangle
{C) Proportion (C}) Square
(D) Gradation (D) MNoneg
187. ‘When all the elements of design are 191, _ label tells us the
: nicely related, the design has composition of a product user o
{A) Proportion which it can be put, how It is made.
(B) Emphasis (A) Brand
(C)  Unity (B) Grade
(D) Formal balance (C) Descriptive
188, Amount of lighiness or darkness in (D)  Informative
calour is 182. Environmental noise s a
(A) Hue (&) Physical barrier
(B] Value (B) Semantic barrier
(C) Intensity (C) Technical barrier
(B} Complementary '| (D) Social barrier

B
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193.

184.

186.

196.

Message has three components
(A) Code, content, freatment

(B)
(C)
(D)

Knowledge, attitude, interest
Initial, derived, terminal

Mone of the above

) function is an imponant
aspect of communication and is
undertaken in formal as well as

informal organisations.
4

(A) Inlegrative

(B} Instructive

(C) Influencive

(0} Informative

Differant roles of extension worker are
{A) Guide and expert

(B8] Enabler

(C) Therapist

(D) All the above

The role of co-ordinator in a satellite
programme is

{A)
(B}
()
(D)

Crucial
Difficult
Time consuming

Expensive

187

188,
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)00 0 0 0 0 O O

In planning exhibits the nderstanding
should be

(A) Good

(B)
(C)
(o)

Simple, attractive, with one idea
Expensive

Mat related

A mobile Is a
(A) Visual medium
(8)

(C)

Pictorial hanging with cords
Light weight

(D7 Al the above

In aral communication the % of
information last

(A}
=]

30%
40%
(C) 20%

(D) 10%

Chanl, diagrams, pictures elc. play a

significant role in making

(A} Eye contact

(B} Ideas clear and comprehensive
(G Visual impact

i None
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IMPORTANT INSTRUCTIONS TO CANDIDATES

FedTaarEl = Teru wesargul SaEw

12,

13

14,

Th.

T

18

. This booklet contains 48 pages.

Plaasa chock-all the pages of the Booklat
carefully, In case of any defect, pleasa ask
the Invigilator for replacamant of the Booklet,
Directions : Each guestion or incomplets
statement is followed by four alternative
suggested answers or complalions, In aach
Ccase, you are required o salect the one that
comactly answars the question of completas
tha staterment and blacken (@) appropriate
circle A, B, G or D by BlusBlack Ball-Point Pen
against the guestion conceamed in the
Answer-Sheet. (For V.H. candidales
corresponding circle will be blackened
by the scribe)

hark your answer by shading the approprias
circle agains! each guesiion. The circle should
b shaded without leaving any spaos.
The camect method of shading is given below.
[iArorg Masrexs Paworg Methon || "rororg Mot | Comeet Mo
el Tele] (o] Jels] (el Sels)(a] Ielel

The Candidate must mark hisher reaponse
after cargful consideration,

There s only one corract answer to each
guestion, You should blacken (@) the circle
ol the appropriate column, viz., A, B, Cor D,
it you blacken (@) more than one circle
againsl any ona quastion, the answer will be
treated as wrong. ! you wish 1o cancal any
angwer, you should completely erase that black
mark in the circle n the Answer-Sheet, and
then blacken the circle of revised esponse,

& maching will read the coded infarmation
in the OMA Answar-Shaat. In case the
information Is Incomplete/different from the
information given in the application form, the
candidature of such candidate will be freated
AR canceled,

Lse tha space for rough work ghsen in the
Question Booklel anly and nal on the
Arswer-Sheal

You are NOT required to mark your answers

in this Booklat. All answars must be
indicated In the Answer-Sheet only.
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Go through instructions given in Page No. 1 (Facing Page)
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